s
K

of

4 +2x + 12 YFJS o

o
=

Al 8x3 -1

5

ot

@ 1 G 2

3 0



S(H 1)(k+2) + (k+1)(k+2) & 22 AL?

(k+1)(k+3)(k+4) @ ék(k—k 1)(k+2)

(k+1)(k+2)(k+ 3) @ %k(k+1)(k+2)(k+3)

®© @ ©
=~ —W| |

(k+ 1)(2k + 1)(3k + 2)



a® — a®b + ab® + ac? — b® — bc? 9] QA42l ALY

@ a-b? ® a®-b>+ 2

2 ® a? +b% -2



=4 f(x) = x4+ 4x2 4+ x—-6= (X+a)()€+b)(x+c)%] T a+b+c



5. ¥ -6x2+11x-62 A5ES) s5HA?

O (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)
@ (x-1)(x-2)(x-3) @ (x+1)(x+2)(x-3)
® (x—1)(x-2)(x+3)



6.

oha Al thekAf ol A Hdlgef-E F-sha?

2x2—-3x+1, 3x2-x-2, x2+3x—-4
@X—]_ @2X-1 @x_2
@ x+3 ® x+1




7. R OFA R 41, 0426 - 5x- 69 AHBRSE FoHA?

D x ® x+1 B x4+ 2 @ x-1 B x-2



8. T ok x4 ax+b, 22 + 3bx + 22 9] HAHFFF7F x - 19 ],
a+ b2 g F5IH?

@D 2 o 1 3 0 @ -1 B -2



9.  a(?*-c?) +b(c*-a?) +c(a® - b?*) & A5ElotE?

® ~(a-b)(b-o)c-a) @ (a-b)b-c)a-c)
® —(b-a)(b-c)(c—a) @ (a-b)(b-c)(c—a)
® (a=b)(b—c)c+a)



10.



11. x=1001< o, ¢4 ZHS otoiat
) KB+xt+x+1

R
=



12, ohg F B4l A2 27} obd 1, 44 a ] BE %ol T

H

x3-2x%-5x+6, x*-3x+a

@D -10 ® -8 3 -5




13. o& 7 oA 4, BO AUFAFE G, Ha3H4E Lolet sk
L

G =ap +arx +agx® +azx® A W, ag + a1 + az + a3 & 751H?

A=(2x-1)(x+1)°
B=(2x-1)*(x+1)(x-2)




14. o]x}e] Alg7t 191 F o2 thadA] A, B o5 2F7t x + 20|10
FAFu7t % + 2% —4x—40|th, A+ B = ax? + bx +cE WEot=
A4 a+ b+ c O FS Fotolet

Ct-

v



15.

2% — 8013, HAFUST} - 24

g2F5E ax + bolth. o] !, a+ b9



16.

x O gt oA A = 42 +ax+ b, B=x*+bx+a 9] N5 G
7h x ol ek YaAo|IL A+ B =G(px+4q) @™, & a+b+p+q
o] gk2?

D -1 @ 0 31 @ 2 ® 3



17. F oA A B A5+ GE A« B

Ueti712 & uf, (A% « B?)% (A% « AB) 9}

@D AG @ A ® AL

Az
2

@ AB



18. TFHA] (x+ 1)(x+3)(x + 5)(x + 7) + a7} oItk Al ] AARFE O
52 0] 28 Aaolat,

s
=¥



19. x* 4+ 3x% + 45 vl27 AF-Es)g 229

O (2+x+1)(x2-2x+1) @ (2 +2x+2)(x2-x+2)
® (?—x+2)(x+x+2) @ (P+x-1)(x%>-2x+1)

® (RP+x-2)(xP+x+2)



20.

0°] oFd A 4:7F 9lek. o159

d o, o] & Al 2] AlAlE<

R
-



21. Al e A4 a, b, coll Aot [a, b, ¢] = (a-b)(a—c)2t & o,
la, b, c] +[b, ¢, al + [c, a, b =0°]9H [a, b, || Ft-2?

D o @ 1 3 2 @ 3 ® 4



22,



23. o3 A (a+b+c)(ab+ be + ca) — abe 0] 1571 obd 22

® a+bd @ b+c ® c+a
@ b-a B -bh--c



24. 10%° -4 11030 -8 9] Hf-Fk= E 2 9] AFA417?

@ 102+ @ 1124 @ 1272
@ 13748 ® 1478



25. ok 4, Bol dele] 4 B B 2 e $2 0, HIAE R ol
Yl B R, & o] Wolx| 1 1 2 @, oltk. o] W, 4, B 9
24305

€7 (&, A 9 A7} B o] 2K} At

AB AB

AB — —

’ AB ’ RfllB ? .
@ —=

0s ® 0109



